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Following Cancers having strong : 4.

evidence of risk relation to physical
activities except

(1) Colon (2) Rectum

(3) Endometrium (4) Bladder

(5) Question not attempted

Regarding HPV vaccination for

primary prevention of carcinoma

cervix, which of the following
statements is incorrect ?

(1) Cervarix is a bivalent vaccine,
protecting against HPV
subtypes 6 and 11.

(2) HPV 16 and 18 accounts for
70% of cervical cancers.

(3) FDA approved the use of
Gardasil 9 to
individuals ages 27 years to
45 years. :

(4) Cervarix and Gardasil
reduces the risk of CIN 1, 2
and 3 by more than 95%.

(5) Question not attempted

Which one of the following cancers
is not included as the focus areas of
the cancer screening aimed at
strengthening cancer control
efforts, focusing on  health
promotion, early detection, and
treatment infrastructure for cancer
under the National Programme for
Prevention and Control of Cancer,
Diabetes, Cardiovascular Diseases
and Stroke (NPCDCS) ?

(1) Oral Cancer

(2) Breast Cancer

(3) Ovarian Cancer

(4) Cervical Cancer

(5) Question not attempted

include :
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Which of the following statement °

about Bupropion use for treatment

of Nicotine dependence is incorrect ?

(1) It blocks Nicotine receptor
and reduces reward.

(2) Inhibits the reuptake of

both Dopamine and
Norepinephrine.

(3) Dose is 150 mg twice daily for
7-12 wks.

(4) Dose is 600 mg twice daily for
7 —12 wks.

(5) Question not attempted

Former smoking is being defined

as

(1) No current cigarette use and
having quit smoking for more
than 1 year. :

(2) Stopped smoking in the
recent past, typically for a
period of 1 week — 1 vear.

(3) Smoked fewer than 100
cigarettes 1n a person’s
lifetime and no current

cigarette use.

(4) Actively smoking one or more
cigarettes per day, every day
.or some days.

(5) Question not attempted

Adjuvant olaparib is indicated for
patients with BRCA1 — or BRCA2
— mutated high-risk breast cancer.
What is the dose of this drug for
these patients ?

(1) 100 mg per oral twice daily

(2) 200 mg per oral twice daily

(3) 300 mg per oral twice daily

(4) 400 mg per oral twice daily

(5) Question not attempted

68
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Which one of the following is a
topoisomerase-1 inhibitor ?

(1) Epirubicin (2) Irinotecan
(3) Mitoxantrone (4) Etoposide
(5) Question not attempted

Which of the following statement is

TRUE about Cabazitaxel ?

(1) Cabazitaxel binds to and
stabilized  the  B-tubulin
subunit causing cell cycle
arrest in G,/M phase.

Cabazitaxel does not
penetrate blood-brain barrier.

Cabazitaxel shorter volume of
distribution and  shorter
terminal half life.

Cabazitaxel binds to and
stabilized  the B-tubulin
subunit causing cell cycle
arrest in G,/S phase.

@)
3)

4)

(5) Question not attempted

Dose-limiting adverse effects of the
Docetaxel is :

(1) Fluid retention

(2) Peripheral neuropathy
(3) Hypotension

(4) Myelosuppression -

(5) Question not attempted

Which one of the following clinical
features is not associated with
carcinoid crisis ?

(1) Severe flushing

(2) Bronchospasm

(3) Hypotension

(4) Bradycardia

(5) Question not attempted
Half life of Exemestane is

(1) 12 hours (2) 27 hours
(3) 48 hours (4) 72 hours

(5) Question not attempted

! 12. What is the adequate sﬁppression
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13.

14.

15.

level of serum testosterone with

medical or surgical castration in
prostate cancer ?

(1) <5ng/dL (2) <50ng/dL
(3) <b5pg/dL (4) <50pg/dL
(5) Question not attempted

Which of the following is Incorrect
about Tamoxifen ?

(1) Tamoxifen is a prodrug and
two most active Tamoxifen
metabolites are 4-OH
Tamoxifen and Endoxifen.

(2) For women who receive
Tamoxifen, the increase in
the annual incidence of
endometrial cancer is
approximately 2.58.

(3) The terminal halflife of
Tamoxifen is between 4 and
11 days.

(4) The terminal half-life of
Tamoxifen 1s between 15 and
20 days.

®)

Question not attempted

In AJCC Breast cancer staging
stage I1IB, INCORRECT is

(1) T3, N2, Mo (2) T4, No, Mo
(3) T4, Ni,Mo (4) T4, N2, Mo
(5) Question not attempted

Which = of the following s
antiapoptotic molecules ?

(1) Bax (2) Bak

(3) Bcl-2 (4) TP53

Question not attempted

(6



16.

17.

18.

19.

Which of the following is not

true about Amplification

Refractory Mutation System

(ARMS) in the process of detection

of mutation ?

(1) It can be used in cancers with
multiple mutations.

(2) Multiple samples ecan be
tested at the same time.

(3) It 1s Polymerase Chain
Reaction based method.
(4) Unique primers must be

designed for each mutation.
(5) Question not attempted

In breast cancer risk factors

Relative Risk > 4 except

(1) Mutation BRCA1 or BRCAZ2
LCIS

(2) Atypical hyperplasia

(3) Radiation exposure before 30

(4) CHEK 2 mutation

(5) Question not attempted

What is the typical imaging dose of
Todine — 131 for an adult ?

(1 0l mCi
(2) - 0.5nmlCi
3) 5:mCi

(4) 10 mCi

(5) Question not attempted

Exclusion criteria for Trans Arterial
Chemoembolization (TACE) except

(1) Child-Pugh C cirrhosis

(2) Poor performance
(ECOG 3)

(3) Total Bilirubin > 4 ng/ml

(4) Unresectable disease

(56) Question not attempted

status

| 20.

1

1
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e e o

21,

22.

-

In patients with differentiated
thyroid cancer metastatic to the

lateral side of the neck, which

preoperative investigation should
be considered routine ?

(1) Ultrasound examination

(2) PET scan

(3) Contrast-enhanced CT of the neck
(4) Diagnostic radioiodine scan
(5) Question not attempted

Which statement regarding role of
PET CT Scan in HNSCC is false ?

(1) 18F-fluorodeoxyglucose is a
glucose analogue that is
preferentially absorbed by

neoplastic cells.

(2) PET is less sensitive than CT
in identifying the primary
lesion but cannot detect
unknown primary tumors with
more than 50% sensitivity.

(3) More than one third of
patients have a change in
their TNM score based on
PET findings.

(4) PET can detect a higher

percentage of lung metastases
than  chest radiography,
bronchoscopy or CT.

(5) Question not attempted

Which of the following statement is

INCORRECT about

Liver Metastases ?

(1) Neuroendocrine and renal
cell metastases are most
readily detected in the
arterial phase.

(2) Colorectal metastasis are
better visualized in the
arterial phase.

(3) MRI is the most optimal
diagnostic tool test for the
detection of hepatic metastases.

(4) CT scan is excellent screening
modality but poor detection of
small (< 1.5 cm) lesions.

(5) Question not attempted
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23.

o
(1]

26.

68

Assertion (A) : The splenic artery 27. Which type of radiation exhibits

and vein are preserved in Kimura's !

technique of spleen-preserving
distal pancreatectomy.

Assertion (B) In Warshaw's
technique of distal pancrea-

tectomy, the spleen is sacrificed.

(1) Both A and B are false
(2) Both A and B are true
(3) A istrue, and B is false
(4) A isfalse, and B is true
(5) Question not attempted

All of the following are correct

about chemoport except

(1) Ideal catheter tip position is 5

cm inside the right atrium.

Catheter placement in

subclavian vein is associated

with higher rate of venous

thrombosis.

(3) Life span of modern chemoport
1s more than a year.

(2)

(4) Short term complications are
arterial puncture, pneumothorax
and catheter malposition seen
in 3% patients.

(5) Question not attempted

Which vein is not -a reliable
recipient for venous drainage of a
free flap ?

(1) External jugular vein
(2) Internal jugular vein
(3) Facial vein

(4) Anterior jugular vein

Question not attempted

®)

Which is / are commonly used
Isotopes for brachytherapy ?

(1) 1125 (2) 11.19‘2

() Csld7 (4) All of these
(5) Question not attempted
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28.

29.

30.

Bragg peak ?

(1) Photons (2) Protons
(3) Electrons (4) X-rays
(5) Question not attempted

All are true regarding Gray (Gy)

except

(1) Unit of absorbed dose

(2) Defined as absorption of one
joule of energy per gram of
matter

(3) 1 Gray = 100 rads

(4) Named after Louis Harold
Gray

(5) Question not attempted

Which of the following statements -
is not true ?

(1) X-rays are produced by a
linear accelerator (LINAC)

(2) y-rays are emitted from
radioactive isotopes.

(3) Electrons have a relatively
long depth of penetration and
are used to treat deeper
lesions.

(4) The older unit of rad is
equivalent to 1 centi-gray
(cGy; 1 rad = 1 cGy).

(5) Question not attempted

On September 21, 2024, Quad
countries launched a cancer
moonshot initiative to reduce the
burden of cancer in the Indo-
Pacific region. This initiative
started with which cancer ?

(1) Dreast cancer

(2) Cervical cancer

(3) Oral cancer

(4) Lung cancer

(56) Question not attempted



31.

32.

All of the following are correct

33. Pertuzumab plus trastuzumab plus

about Gompertzian model of tumor |

growth except

(1) Growth fraction of the tumor |
is not constant and decreases |

exponentially with time.

34.

(2) Growth fraction peak when |
the tumor is approximately
37% of its maximum size. |

(3) Larger tumor mass, low .
growth fraction, less cells
killed.

(4) Growth fraction peak when

the tumor is approximately

50% of its maximum size.
(5) Question not attempted

Which of the following statements
about the alkylating agents in
oncology is untrue ?

(1) They impair cell function by
transferring alkyl groups to
amino, carboxyl, sulphydryl,
or phosphate groups
biologically important
molecules.

(2) The primary mode of action is

cross-linking DNA strands or

breaks in DNA.

(3) Tumor resistance is due to the
capacity of cells to repair
nucleic acid damage and to’
inactivate the drugs by
conjugation with glutathione.

(4) Pemetrexed is an alkylating
agent. :

®)

Question not attempted

of |

36.

-

docetaxel were found to be superior
to docetaxel plus trastuzumab,
setting the former combination as
the standard of care in which trial ?

(1) CLEOPATRA

(2) EMILIA

(3) HERA

(4) FinHER

(5) Question not attempted

Which of the following statements
about hematopoietic growth factors
1s not true ?

(1) Pegfilgrastim dose is 6 mg.

(2) Pegfilgrastim is administered
the day after chemotherapy.

(3) Filgrastim dose is 5meg/kg daily.

(4) Filgrastim 1is administered
prior to chemotherapy.

(3) Question not attempted

Human papillomavirus types 16
and 18 are responsible for cervical
cancer cases globally :

(1) 60% (2) 70%

(3) 80% 4) 90%

(5) Question not attempted
Which cells are principally

involved in cross presentation of
exogenous antigens ?

(1) Dendritic cells

(2) Lymphocytes

(3) Becells

(4) Haematopoietic stem cells
(5) Question not attempted
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37.

38.

39.

- 68

WHO published its position paper

on new recommendations for

human papillomavirus vaccination
2022. All of the

following statements are true in

in December

this regard except

(1) A one or two-dose schedule for
girls aged 9-14 years

(2) A one or two-dose schedule for
girls and women aged 15-20
years

(3) Two doses with a 6-month
interval for women older than
21 years :

(4) Two doses with a 12-month

interval for women older than
21 years

(5) Question not attempted

The blood supply. for the

Supraclavicular flap arises from :

(1) Perforating  branches of
Superior thyroid artery

(2) Perforating branches of
Transverse cervical artery

(3) Perforating branches of the
Suprascapular artery

(4) Perforating branches of the
Thoracoacromial artery

(5) Question not attempted

Superficial parotidectomy surgery
is also known as

(1) Blair’s operation

(2) Sistrunk’s operation

(3) Patey's operation

(4) Criles operation

(5) Question not attempted

’ 40. According to the American Joint

i

H

i

s e

41.

42,

43.

®)

Committee on Cancer Staging for
supraglottic Laryngeal Cancer, the
primary tumor (T3) is

(1) Tumor limited to one subsite
of supraglottis with normal
vocal cord mobility :
Tumor invades mucosa of more
than one adjacent subsites of
supraglottis or glottis or region
outside the supraglottis’
Tumor invades the medial
wall of pyriform sinus

Tumor limited to larynx with
vocal cord fixation

(5) Question not attempted

(2)

4

Which of the

contraindication

laryngectomy ?

(1) Extension to the supraglottic
or inter arytenoid area

following 1is a
of the hemi-

(2) Involvement of one cord

(3) A partial fixation of one cord

(4) Adequate pulmonary. function

(5) Question not attempted

Which of the following 1is

considered a low-risk salivary
~ gland malignancy ?

(1) Carcinoma ex-pleomorphic

adenoma

(2) Adenoid cystic carcinoma

(3) Acinic cell carcinoma

(4) Squamous cell carcinoma

(5) Question not attempted

Montgomery tube is used in which
surgery ?

(1) Tracheal resection

(2) Nasopharyngeal surgery
(3) Maxillectomy

(4) Palatectomy

(5) Question not attempted



44,

45.

46.

47.

- therapy for early oropharyngeal

Which of the following head and neck 48. Which of the following statements

cancer sites comes into the low-risk |
group for the clinically NO neck ?

(1) T1 Soft palate

(2) T1 Base of tongue
(3)
(4)
(5)

T1 Nasopharynx
T1 Oral tongue
Question not attempted

The
primary tumor in Head & neck ;

risk of developing a second

cancer is approximately
o)
(2)
3
4)
(6))

1% to 1.5% per year
2.7% to 4% per year
5.7% to 6.5% per year
7% to 8% per year
Question not attempted

In an ulcerated buccal carcinoma, :
tumor thickness is in |
comparison to the depth of invasion.

e

(1) less

(2) equal

(3) more
(4) based on MRI findings

(5)

Question not attempted g

Name the landmark trial that
compared TORS vs

radiation :

BAMT THANHRISSS Vo ARH

cancer.

(1) DECIDE .!
(2) PARADIGM
(3) ORATOR
(4) DEESCALATE
(5) Question not attempted ;

49.

50.

is not true regarding head and

neck cancer ?

(1) There
lymphatics in the epithelium.

are no capillary

(2) The lymphatic invasion can
occur without tumor
penetration to the lamina
propria.

(3) The nasepharynx and

pyriform sinus have the most
profuse capillary lymphatic
networks.

The paranasal sinuses, |
middle ear, and true vocal
cords have few or no capillary |

(4)

Ilymphatics.
(5) Question not attempted !
Which of the following is incorrect |
about Genetic Alterations in non

small cell Lung cancer ? |

(1) KRAS Mutation frequency 25% |
(2) EGFR Mutation frequency 15%
(3) BRAF Mutation frequency |

10% — 15% :
(4) ALK rearrangement ﬁ‘equency;
5% — 7%
Question not attempted :

®

Infiltration of all the followingf;:;
structures constitutes a T3 stage in
the AJCC 8% edition staging for_-%
Lung cancer except

e

(1) Chest wall
(2) Pericardium
(3) Phrenic nerve

4
(5)

Recurrent Laryngeal nerve

R A S R A AL AR 1A B

Question not attempted
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51.

52.

53.

68

All are true about Thymic tumors

except

(1) PET scan cannot distinguish
between thymoma and thymic
carcinoma

(2) Masaoka staging system is
used

(3) Myasthenia ‘Gravis is
associated with Thymoma

(4) C kit mutation is seen in
2 — 10% of thymiec carcinoma

(5) Question not attempted

Which of the following pairs
of lymph node mapping, according
to the International Association
for the Study of Lung Cancer, is
incorrect ?

(1) Station 7-Subecarinal

(2) Station 9-Pulmonary ligament
(3) Station 12-Interlobar

(4) Station 13-Segmental

(5) Question not attempted.

OVHIPEC, a phase III randomized
controlled trial investigating the role
of HIPEC in advanced

i 54. Which of the following statement is

AR D 11 A ORGSR 10K R 8

ovarian |

cancers. Choose the most appropriate |

option related to this trial :

(1) Primary debulking surgery

(2) The rate of toxicity were
observed higher in the HIPEC
arm.

(3) Interval debulking surgery

(4) No effect on recurrence-free
survival and Overall Survival
(OS)

(5) Question not attempted

55.

false about Hereditary ovarian
carcinoma ?

(1) The breast-ovarian cancer
syndrome accounts for
approximately 90% of

hereditary ovarian cancer.

(2) The hereditary non polyposis
colorectal cancer syndrome
accounts for 15% to 20% of all
hereditary ovarian cancer.

(3) The lifetime risk of ovarian

cancer is approximately 20%
to 40% in BRCAl1 mutation
patient.

(4) The lifetime risk of ovarian
cancer is approximately 10%
to 20% in BRCA2 mutation
carriers.

(5) Question not attempted

Which of the following statements

about the Phase III epithelial

ovarian cancer trial by Van Driel
et al. is true ?

(1) This trial was conducted on
newly diagnosed stage III
chemoneive epithelial ovarian
cancer.

(2) Interval cytoreduction with
HIPEC was associated with
longer recurrence-free survival
than surgery alone.

(3) Grade 3 or 4 adverse events
were not similar between the
two arms.

(4) Overall survival rates were
similar in both treatment
arms.

(5) Question not attempted



56.

57.

58.

59.

The most chemo resistant type of
ovarian cancer 18 —

(1) Papillary serum

(2) Endometrioid

(3) Mucinous

(4) Clear cell

(5) Question not attempted

i 60. Which of the following statement is

]

If a serous adenocarcinoma of the
ovary involves one ovary but with !
capsule ruptured before surgery, it |

will be classified as :

(1) Stage IB

(2) StagelC1

(3) Stage IC2

(4) Stage IC3

(5) Question not attempted
Which of the following is the most
active  chemotherapy regimen

(having improved disease free and
overall survival) in randomized
clinical trials

in women with |

advanced or recurrent endometrial :

| 62.

cancer ?

(1) Doxorubicin plus Paclitaxel

(2) Cisplatin / Doxorubicin

(3) Cisplatin / Doxorubicin /
Paclitaxel

(4) Ifosfamide plus Paclitaxel

(5) Question not attempted

In which scenario can we perform

Sentinel  Lymph Node Biopsy

(SLNB) in vulvar cancer ?

(1) Tumor size 3cm ..

(2) Multifocal disease

(3) Stromal invasion 5 mm

(4) PNI £

(5) - Question not attempted

61.

mcorrect in invasive vulvar cancer ?

(1) 30% to 50% of invasive vulvar
carcinoma associated with
HPV infection.

(2) HPV positive vulvar cancer
are multifocal, seen in
younger women.

(3) HPV negative tumor are
generally = unifocal, seen in
older women, well
differentiated.

High incidence of p53 mutation '
in HPV positive tumors.
Question not attempted

4)

(5)
FALSE about genetic changes in
Type I and Type II endometrial
cancer —

(1) Microsatellite instability
common n Type II
endometrial cancer. : :

(2)

BCL 2 over expression seen in

Type II endometrial cancer.

KRAS mutation, PTEN

mutation, B-catenin mutation

seen in Type I endometrial
cancer.

p53 mutation seen in Type II

endometrial cancer.

(3)

@

(5) Question not attempted

OVA1l was the first blood test
approved by the FDA for assisting
with the triage of an adnexal mass.
It i1s a multivariate index assay .

that evaluates the following five =

biomarkers except

(1) CA125

(2) apolipoprotein Al
(3) HE4

(4) Pp2-microglobulin

®)

Question not attempted

Her2 / neu amplification & @



63.

64.

65.

68

The World Health Organization |
(WHO) adopted the Global strategy
for cervical cancer elimination in
August 2020 to address global
inequalities in preventing and curing
cervical cancer worldwide. Which of
the following statements is incorrect ?
(1) Vaccination of 90% of girls

with human papilloma virus

(HPV) vaccine by the age of

15 years.

Screening of 70% of women by
age 35 years and again by age
45 years

Treatment of 90% of women
with precancerous lesions.
The goal is to meet the “90-
70-90” targets by 2050.

(5) Question not attempted

(2)

3)
(4)
Which patient is most suitable for

the omission of RT after breast
conservation surgery ?

(1) 38 years old with TINO ER —,
PR —, Her2u —

(2) 72 years old with TlNO ER +
on Tamoxifen

(3) 50 years old with TINO ER +
with DCIS

(4) 65 years old with T2N1 ER +,
PR +, Her2u —

(5) Question not attempted

All of the following ‘are correct

about NSABP B-17 trial, role of

Radiotherapy (RT) after

Lumpectomy in patients with

DCIS except

(1) Use of RT resulted in 50%

risk reduction in ipsilateral ;

local recurrence.
Improve overall survival

(2)

(3). More local recurrence in light
& intermediate grade DCIS.
(4) Age is important. factor for

recurrence.

(5) Question not attempted

i | 66. Breast
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67.

68.

69.

(1)

cancer and Pregnancy
FALSE statement is

(1) Breast cancer is one of the most
commonly diagnosed
malignancies during pregnancy.
Seen in 1 : 1000 pregnancies
Seen in 1 : 3000 pregnancies
Breast surgery can be safely
performed during any
trimester of pregnancy.
Question not attempted

(2)
(3)
“4)

®)

TRUE about breast carcinoma in men :
Estrogen receptor positive

(2) Gynecomastia is not a risk factor

(3) Seen in younger males

(4) Radiotherapy contraindicated due
to close proximity to chest wall

(5) Question not attempted

Relative risk of more than 4-fold
increase in breast cancer includes

following except :

(1) Radiation exposure before age
of 30

(2) CHEK 2 Mutation

(3) BRCA 1 and 2 mutations

(4) Atypical hyperplasia

(5) Question not attempted

Incorrect statement with regard to
family history of breast cancer
amongst the following is —

(1) 5% to 10% of women who
develop breast cancer have a
true hereditary predisposition.
Women with BRCA2 mutations
have a higher incidence of
higher-grade tumors (“triple-
negative”), breast cancers than
sporadic cancers.

The presence of a BRCAL or
BRCA2 mutation may be
suggested by the family
history on either the maternal
or paternal side of the family.
By contrast, women in families
with a known BRCA mutation
but who test negative for the
mutation are not at increased
risk and do not require special
surveillance.

Question not attempted

(2)

3

(4)

(5)



70.

TE

72.

Bilateral prophylactic mastectomy
reduces breast cancer mortality by
(1) 11-40% (2) 41-60%

(3) 61-80% (4 81-100%
(5) Question not attempted

Regarding BRCA1l and BRCAZ
gene mutations, which of the
following statements is untrue ?

(1) The estimated lifetime risk of
breast cancer development in
mutation carriers ranges from
26% to 85%.

The risk of ovarian cancer
ranges from 16% to 63% and
10% to 27% in carriers of
BRCA1 and BRCAZ2,
respectively.

More than 700 mutations of
BRCA1 and 300 mutations of
BRCAZ2 have been described.
The phenotype of BRCA2-
associated cancers
significantly differs from that
of sporadic cancers.

(5) Question not attempted

DeCOG-SLT is a phase III
prospective randomized trial of
malignant melanoma. Which of the
following statements is correct ?

(1) Cutaneous melanoma of the
trunk and extremities who
were randomly assigned (1:1)
to undergo CLND or
observation
Distant
survival
analysed
endpoint.
No significant treatment-
related difference was seen in
the 5-year DMFS between the
observation and CLND arms.
Results confirm that
immediate CLND: in SLN-
positive patients is superior to
observation.

Question not attempted

@

3)

(4)

metastasis-free
(DMFS) was
as the primary

@)
3)
(4)

®)

i 78. A 37 year old man presents to your

12

7

7

~

4.

5.

6.

clinic with history of a pigmented
skin lesion on his back. His
dermatologist performed Biopsy
demonstrating a 1.4 mm thick
melanoma. He has no palpable
axillary or inguinal adenopathy,
next step in management is :

(1) Staging PET/CT scan.

(2) Wide local excision with 1 cm
margin.

(3) Wide local excision with 3 cm
margin and sentinel node
biopsy. ;

(4) Wide local with 2 cm margin
and sentinel node biopsy. :

(5) Question not attempted

Mohs micrographic surgery is most

appropriate for

(1) Merkle cell carcinoma

(2) Large cutaneous melanoma
(3) SCC with nodal metastasis
(4) Recurrent BCC over the face
(5) Question not attempted

What is the recommended margin
of resection in squamous cell skin |

cancer for low-risk lesions >2 cm
diameter ?

(1) 2mm
(2) 4mm
(3) 6mm
(4) 8 mm
(5) Question not attempted

Which of the following is the best
in &

predictor of metastatic risk

primary melanoma ?

(1) Breslow thickness

(2) Ulceration

(3) Age

{4) Site of lesion

(5) Question not attempted

Suiogrs

68 &
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78.

9.

80.

68

Which of the following sarcoma
subtype have incorrect clonal
cytogenetic abnormality ?

(1) Synovial sarcoma and t(X:13)
(pll:qll)

(2) Ewing sarcoma and t(11:22)
(q24:q12)

(3) Alveolar rhabdomyosarcoma
and t(2:13) q(35: q14)

(4) Desmoplastic small round cell
tumor and t(17:22) (q22:q13)

(5) Question not attempted

Which is false regarding Ewing’s
sarcoma ?

(1) It 1s second most common
tumor of bone affecting
children and adolescents.

(2) It involves both diaphyses
and metaphyses.

(3) At diagnosis 35-40% arve
metastatic.

(4) Fusion between FET-ETS
gene 1s pathognomic of
Ewing’s sarcoma.

(5) * Question not attempted

Tikhoff-Linberg resection is done
for osteosarcoma of :

(1) Femur (2) Pelvis

(3) Scapula (4) Humerus
(5) Question not attempted

Which is the incorrect order of
sequences in the overarching
priorities in caring for patients
with sarcomas of bone ?

(1) Cosmesis > Limb length
equalization

(2) Life >limb

(3) Limb length equalization >
Cosmesis

(4) Limb function > Limb length
equalization

(5) Question not attempted

i
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81.

82.

83.

84.

All of the following are poor
prognostic factor in adult ALL
(Acute Lymphoblastic Leukemia)

except

(1) Philadelphia chromosome
t(9:22)

(2) t:11)

(3) Age > 50 years

(4) Diploid chromosome on
Karyotyping

(5) Question not attempted

Regarding Hodgkin lymphoma,

which of the following is not true ?

(1) Classical Hodgkin lymphoma

- (CHL), accounts for 90% of all
cases

(2) Stage II involves multiple

nodal regions limited to both
sides of the diaphragm

Most cases of CHL are
diagnosed in adults between
the ages of 20 years to 34 years.

3

(4) The Lugano staging
classification is used for HL
staging

(5) Question not attempted

All are poor risk factors for AML

except

(1) Presence of FLT-3 ITD
Mutation

(2) Presence of complex cytogenetic

(3) Deleting 5q abnormality

Core binding factor mutations
Question not attempted

(4)
(&)
The tendency of colonic carcinoma
to metastasize is best assessed by

(1) Size of tumor

(2) CEA levels

(3) Depth of Penetration of Bowel
wall

(4) Proportion of bowel

circumference involved
Question not attempted

()



85.

86.

87.

contrast-enhanced axial

tomography

The
computed

demonstrates an annular soft tissue |

lesion (arrows) in the duodenum,

resulting in circumferential luminal |

narrowing and wall thickening. A
lateral image from a subsequent
upper gastrointestinal series shows
an annular “apple-core” lesion,
resulting in advanced narrowing of
the duodenal lumen. What is the
most likely diagnosis based on the
imaging features ?

(1) Adenocarcinoma

(2) Carcinoid tumor

(3) Lymphoma

(4) Sarcoma

(5) Question not attempted

All of the following are criteria for !

trans-anal excision of Ca Rectum except :

(1) < 30% circumference of bowel
involvement

(2) < 3cmin size

8y “T1and T2

(4) Within 8 cm of anal large

(5) Question not attempted

According to the American Joint

image

; 88. Which of the following is not a -

¥
i
1
i

i

system for gallbladder cancer stage |

T2b is ;

(1) Tumor invades muscular
layer =]

(2) Tumor invades the
perimuscular connective

tissue on the peritoneal side
without involvement of the
serosa (visceral peritoneum)

(3) Tumor invades the
perimuscular connective tissue |
on the hepatic side, with no |
extension into.the liver :

(4) Tumor invades lamina propria

(5) Question not attempted

14

89.

90.

Committee on Cancer, the staging 91.

criteria for unresectability of hilar
cholangiocarcinoma ?

(1) Portal hypertension

(2) Main portal vein involvement

(3) N2 disease

(4) Lobar atrophy with ipsilateral
portal vein involvement

(5) Question not attempted

Portal hypertension can be indirectly
assessed clinically by the presence of
the following features : all except

(1) Splenomegaly

(2) Esophagogastric varices

(3) Thrombocytopenia

(4) Leukopenia

(5) Question not attempted
Which of the following
abnormalities is both a

paraneoplastic syndrome associated
with HCC and may also be caused
by end-stage liver failure ?

(1) Erythrocytosis

(2) Hypoglycemia

(3) Hypercalcemia

(4) Hypercholesterolemia

(5) Question not attempted

Which of the following statement
about GIST is true ?

(1) Half of . GIST = fumors
demonstrate mutations in
either KIT or PDGFRA,
whereas half are WT

Most GIST cases arise from
small bowel, followed by
stomach and esophagus
Succinate dehydrogenase
(SDH)- deficient GISTs
usually occur
females X
Small GISTs can be followed.
<4 cm 1n size

Question not attempted

(2)

3)

(4)

(5)

68
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92. Which of the following statements

93.

68

is not true about gastric cancer
management ?

(1) Minimally mvasive
approaches may be considered
for selected cases, provided
that  the has

experience.

surgeon

mvasive

(2) Minimally
approaches are generally not
recommended for T4b or N2

bulky gastric cancer.

The safety of laparoscopic
total gastrectomy with
lymphadenectomy by
experienced surgeons for
early-stage gastric cancer was
comparable to that of an open
‘procedure.

The CYTO-CHIP study
confirmed the safety of the

(3)

(4)

invasive
early-stage

minimally
gastrectomy
gastric cancer.

in

(5) Question not attempted

The following are true statements
of Transthoracic Esophagectomy
over Trans hiatal Esophagectomy
except

(1)

Overall mortality is same

(2) Loco-regional recurrence and
Distant recurrence are same

(3) Less anastomotic leak in TTE

(4) Vocal cord paralysis in m/c in
transthoracic type

(5) Questidn not attempted

15

94 Which of the following statements

95.

(3

about Perioperative Chemotherapy
or Preoperative Chemoradiotherapy
in Oesophageal Cancer (ESOPEC
trial) is not true ?
(1) Resectable esophageal
adenocarcinoma to receive
perioperative chemotherapy
with FLOT plus surgery or
preoperative
chemoradiotherapy
surgery.

plus
(2) The primary endpoint was
progression-free survival.

Progression-free survival at 3
years was 51.6% (95% CI,
44.3 to 58.4) in the FLOT
group and 35.0% (95% CI,
284  to - 4187 in . the
preoperative-chemoradiotherapy
group

Perioperative chemotherapy
with FLOT led to improved
survival among patients
with resectable esophageal
adenocarcinoma as compared
with preoperative
chemoradiotherapy.

4

(5) Question not attempted

All of the following are included in
the MSKCC Prognostic System of
Metastatic Renal Cell Carcinoma
except

(1) High lactate dehydrogenase

(2) Low calcium level

(3) Low haemoglobin

(4)  Low Karnofsky performance
status

(5) Question not attempted



96.

97.

98.

Wrong statement in  Muscle
invasive Bladder Cancer

(1) Radical Cystectomy is the
standard of care in all
patients with cancer involving :
muscularis propria of Bladder.
Urethra may be spared in
men and women-if urinary |
diversion with neobladder is
planned.

Compared to colon and Ileum,
jejunum is the preferred
conduit as electrolyte
disturbances are not
significant.

Outcomes

(2)

3

4) are
Invasive surgery.
(5) Question not attempted
According to the NEVES
classification of IVC thrombus in
Renal cell carcinoma, what is stage
2 among the following ?
(1) Thrombus in Renal vein

(2) Thrombus in IVC < 2 cm
above Renal vein
(3) Thrombus in IVC > -0t

above Renal vein and below
Hepatic veins

(4) Thrombus above Hepatic vein
and below Diaphragm

(5) Question not attempted

Which of the following is not a

complication of the radical
cystoprostectomy with ileal
conduit ? ~

(1) Acidosis 2

(2) Postoperative hydzi'\bnephrosis
(3) Postoperative pyelonephritis
(4) Alkalosis

(5) Question not attempted

I'
i
i
E
i
i
E
i
1
i
.!
1
i
i
i
i
l
i

comparable
with both open and minimally :
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99.

: 100.

101.

PAX 8 is an THC diagnostic marker
for all the following tumors except

1) RCC

(2) Thyroid

(3) HCC

(4) Ovarian

(5) Question not attempted

Management of patients with CUP
— Wrong statement is

(1) Those presenting with diffuse

Peritoneal carcinomatosis
without a clear primary
should be considered for
Surgical cytoreduction
followed by Chemotherapy.
(2) Breast MRI can identify
- occult breast malignancy in
patients with axillary

lymphadenopathy with no
tumor in clinical examination
or Mammographv

(3) Immunotherapy e
approved by FDA for
treatment of CUP

(49) Men with Adenocarcinoma of
unknown prnimary should
have their PSA measured.

(6) Question not attempted

Which of the following pa

IHC markers and asso ’-lated

tumors is not correctly mat:

(1) TTF1 - Lung adenx,s::: rcinoma

(2) GATA3 2
adenocarcinona

(3) PAXS8 — Thyroid cancer

(4) Calretinin - Medullary

thyroid cancer

Question not attempted

;J

Prostate

(5)

68
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102. PRETEXT classification is used for

103.

104.

105.

68

which cancer ?

(1) HCC

(2) Renal cell carcinoma

(3) Wilms tumor

(4) Hepatoblastoma

(5) Question not attempted

What is the most common age of

the diagnosis of the Wilms tumor
in children ?

(1) 1-5years

(2) 5-10 years

(3) 10-15 years

(4) <1 year

(5) Question not attempted
Which one of the following

|

[ ——
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Interventions for Fatigue does not |
have Strong Evidence Supporting !

Effectiveness ?

(1) Exercise

(2) Reiki, aromatherapy,
distraction-virtual reality
immersion

(3) Psychoeducational/
psychosocial support

(4) Structured rehabilitation

(5) Question not attempted

What will the OMAS (oral

mucositis assessment index) be if
there is no severe erythema of less
than 1 cm? over the lateral tongue
and floor of the mouth ?

(). 2
@) 3
(3) 4
4) 5
(5) Question not attempted

106. Which

107.

108.

109.

of the

following
antiemetic drugs has the highest
therapeutic index ?

one

(1) Aprepitant

(2) Prochlorperazine

(3) Nabilone :

(4) Dronabinol

(5) Question not attempted

Typical shaggy moth eaten
appearance of Esophagogram seen
n :

(1) Caustic Burn of esophagus

(2) Esophageal candidiasis

(3) - Esophageal bacterial infection
(4) Esophageal bacterio fungal

infection

(5)

The most common organism
isolated from central line infections
is

Question not attempted

(1) Staphylococcus aureus
(2) Pseudomonas aerujinosa
(3) Candida

(4) Klebsiella

(5) Question not attempted

Early in the course of neutropenia,
during the first week, which kind
of organisms are most commonly
found ?

(1)

Gram-positive and gram-
negative bacteria

Fungi (candida species)

Molds (Aspergillus)
Carbapenemase-producing
Enterobacteriaceae

Question not attempted

(2)
3)
(4)

(5)



110.

11k

112.

113.

114.

Which of the following laboratory
abnormalities are associated with
tumor lysis syndrome ?

(1) Hypokalemia + Hypocalcemia

(2) Hyperkalemia +
Hypercalcemia

(3) Hypocalcemia +

- Hyperuricemia

(4) Hypomagnesemia +
Hypophosphatemia

(5) Question not attempted

MNOP algorithm for managing
malignant Spinal cord compression,
includes all except

(1) Mechanical

(2) Nutritional

(3) Oncologic

(4) Preferred Treatment

(5) Question not attempted
The most common cause

superior vena cava syndrome is

(1) Lung cancer

(2) Lymphoma

(3) Other malignancies (primary
or metastatic)

(4) Non-neoplastic

(5) Question not attempted

RANO Criteria is used for response !

assessment of which tumor ?
(1) Glioblastoma multiforme
(2) Spinal cord tumors

(3) Neuroblastoma

(4) Malignant melanoma

(5) Question not attempted

The most common prlmary brain
tumor is -

(1) Meningioma

(2) Glioblastoma

(3) Pituitary tumor

(4) Nerve sheath tumors

(5) Question not attempted

| 115. According to

11

of !

116.

the 2021 WHO
criteria for the diagnosis of Lung
Neuroendocrine Tumors, which of
the following is true regarding the
diagnostic criteria for Typical and
Atypical Carcinoid tumors ?

(1) Typical carcinoid is a tumor
2 5 mm with carcinoid
morphology and < 2 mitoses/
2 mm?2, lacking necrosis
Atypical carcinoid is a tumor
with carcinoid morphology and
> 10 mitoses/2 mm?2, and /or
necrosis (often punctate) or both
Typical carcinoid is a tumor
2 2 mm with carcinoid
morphology and > 5 mitoses/
2 mm?, lacking necrosis
Atypical carcinoid is a tumor
with carcinoid morphology
and < 2 mitoses/2 mm?2,
and/or necrosis (often
punctate) or both

Question not attempted

2)

(3)

(4)

(5)

As per the American Association of
Endocrine Surgeons (AAES)
guidelines, which of the following is
not the indication for
parathyroidectomy in patients with
hypercalcemia associated with Primary

hyperparathyroidism (PHPT) ?

(1) Osteoporosis or  vertebral
compression fracture
documented by imaging studies

(2) Clinically documented
nephrocalcinosis

(3) 24 — hour urine calcium > 300

- mg/dl

(4) Serum calcium > 1 mg/dl
above the upper limit of
normal

(5) Question not attempted

68
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117. Which is the most common i 121. Regarding the wusage of opiod
Pancreatic  neuroendocrine tumor : analgesic, morphine for pain
associated with MEN 1 syndrome ? control in cancer patients, which of
) Insxiﬁnoﬁna' E the following is trwee .

&) Costrinsine ;;., % (1 Its half-life is 2 to 4 hours ‘
S Ry ; (2) Time to reach = maximum
3) Glucagono_ma o She concentration is 30 minutes
@) VIPoma - g ' for mtravenous route. ;
o : ; (3) Plasma concentration reaches
B AQuestlon nOt, attenaptetl : - a steady state in 3 half-lives.
rigil g9 Smnidsti = (4). Time to reach maximum
-118. Medullary -'cell;'.g carcinoma  arises |  concentration is 15 minutes
~from- : ; i for oral route.

e BolliculAvedlis. o i (5) . Question not attempted ., - .
(2) Parafollicular Ct“é%s
' (8) Stromalcells -
(4) Lym.phocytes 3 _:?"':

(5) Questlon not attempted ;

122. Which one of the following is not a
co-analgesic used in cancer pain ?
- (D Amitryptaline
(2) Dexamethasone :
(3) Cannabmmds =Sy
(@) Choline magnesmm
: trlsahcylate 2]
(b, Questlon not. attempted

123 Which of ‘the following is not‘

9970 (' i o E pd 1 3

i 119.Do mo - harm ~~concept was
emphasmed in- Whmh of the
following ethical pnnclples 7

s AT S L A 1R 0 O R Yt

o @@sordusticesds o _;_}-:};';‘ e : . recommended for cancer patients
icigyol Autonomy (EOMOW. . b throughout“s}-~i..-‘vo1:sh1p 2 T .
ahe fid "t\ ' : (1) Emphasize veg able_s_: 3-5
o) Bt OEY b il S e O
54) Non—maleﬁgepg?r;f’ L (2) Choose whole: grains : @ats,

bulgmj whole Wheat hlgh-
' il ; ﬁbef ll:)reads and cereals

e S Lpeingon 5 (3) Emphasme sweets o b
: 120 Whlch of the foﬂowgnggstthe wrong & H{ sServingsidailyilaroni sdT T8

éXpa.nSIOIL d()o‘f .—( the. S{TP"I K"E S (4) AVQId; s xwg},e%gm P()ﬁ)SlbIe

PIOFOCOI for g ngews and processed meats| - ..
setting t;up‘7 3803315 EaRe (5) Questlo not attem?ted
conversa o S : Sigen dzpovd - (1)
o e G 124. Al ¢ ' |
P gl ,’;:; SR

(2) st ,,,ﬁ@;I;I_QS,S_.-:”;. ‘ﬁ"l L FERmE . (1) ‘ ffects

(8) - I-Invitation g () Health pmmotlons

@ PBysmal effects e
(4) - None of these '+ .=
(5) Question not attempted

_ ) ‘i‘vK-rKnowledge &g
 (5) Question not attempted
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125. All of the following are risk. i
reduction ~ strategies in BRCA
mutated individuals except

(1)  Prophylactic B/L Salpmgectomy

128. The following is TRUE about -
Ultraviolet (UV) light :
(1) UVC hght ‘is more damaging -
to DNA than UVA and UVB

vtk ARG B8 T R R AN TS ORI Wi IO AT

(2) Prophylactic B/L Salpmgo- (2) ];J%lé light having wave length
- oophorectomy & of 320 to 400 nm

(3) Prophylactic B/L. Oé)ﬁhorectomy (3) Risk of Melanb_ina appears to

(4) Prophylactic B/L Mastectomy 7 be' linked to cumulative

TR dog lifetime exposure to UV light.
(B}, Queshionngs atteropted (4) ~Living “organism are mostly’
exposed to UVC irradiation
than 'UVA and UVB

irradiation.

126. Which of the fOllowing .statement
about HPV vaccine Galdasﬂ 1is
correct ? ;T:* (5) Question not :a_tpemp_ted

~

(1) It is a quadrlvalent vaccine : , T e (O

129. Which Qf the following statement is
FALSE in Lynch syndrome ?
(1) The Lynch syndrome is

containing virus-like particle

(VLPs) from four different

i ARG YRLADELF TH AT e LD T YRR TIAARLE 00 T D02 TMARLINAS Y

typés of HPV. ; ; b S
primarily: associated with®a
(2) Protects from all HPV causing high ~risk for colon Sk
- cervical cancer. cop ] 2 endometrial cancer.
“3) Is ‘recommended only for | (20 Two to three percent of
sexually active WO%;nen. ; : women  with endometrial
(4) Is recommended for treating | cancer hiagg lynJch s,y;m%rg)me. _
-cerv1c Al cancer. ;mﬁ ; ' (3) The . ‘hrfe time - risk of
o endometmal cancer for women
d) Questlon not at’cempted : " with lynch syndrome has been

reported as 33% to 40%.
04 "_Endometmal _cancer ¢ risk |
-\ '~ highest for women W1th PMS2 |
“mutation” “or EPCAM
mutations. =
) Questlon not attempted

127. The mcreased nsk of mahgnancy
associated w1th obesﬂ:y is strongest
i sy ! :
1) Breast cancer '
‘ (2) Endometrlal cancéT

i-.i*:

(3) Gastric cancer -k 130. Anthracyclines mhiblt*:? :

(1) Tropl . (2) Trop2A
(3) Trop 3A - (4. Trop 3B
(5) Question not attempted - |

(4) Esophageal canceg
D) Questmn not attempted
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131. What is the leading cause of death i 135. Which malignancies

132.

133.

134.

in multiple endocrinal neoplasia

type 1 (MEN1) ?

(1) Heart attack

(2) Pituitary adenoma

(3) Parathyroid adenoi.ﬁa

(4) Malignant pancreatic NET
(5) Question not attempted

Which one of the following is not a
typical histopathological feature of
the basal-like molecular subtype of
breast cancer ?

(1) ER-negative (2) PR-negative
(3) Her2-positive (4) Her2-negative
(5) Question not attempted

Which of the following components
of Radiotherapy are used fo_r
superficial radiation ? '

(1) Electron
3) UV rays
(5) Question not attempted

(2) Neutron

(4) Gamma rays

Which one of the following pairs is
correctly matched ?

(1)  Aerobic glycolysis — Sustaining
proliferative signalling

(2) Inhibitors of oncogenic kinases
— Evading growth suppressors

(3) Telomerase inhibitors -
Enabling replicative immortality

(4) PARP inhibitors — inducing
angiogenesis : :

(5) Question not attempted
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136.

137.

138.

the
exception to the fact that cancer

are

incidence increase with age ?

(1) Leukaemia and Sarcoma

(2) Lymphoma and Sarcoma

(3)  Retinoblastoma and Lymphoma
(4) Carcinoma and Retinoblastoma
(5) Question not attempted

The DNA damage checkpoints are
located in following phase of the
cell cycle except

(1) G1/S phase

(2) Gy/M phase

(3) S phase

(4) M phase

(5) Question not attempted

Which of the following is the
vaccine that can be used with IL-2
In patients with melanoma ?

(1)

Talimogene laherparepvec

(2) Gpl00

(3) GVAX

(4) Sipuleucel-T

(6) Question not attempted

Cancer immunosurveillance concept
was put forward by

(1) Schreiber et al

(2) Burnet and Thomas

(3) Paul Ehrlich

(4) . zer Heusen

(5) Question not attempted




139.

140.

141.

142,

Identify the incorrect pair of the
antibody substem indication of the

species on which the
immunoglobulin sequence is based
(1) -o- : Mouse

(2) -xi- : Chimeric :

3) -zu-: Humanized.;_;,,

(4) -u- : Chimeric/ Humanized
(5) Question not attempted
Which 1s the most common

antibody isotype used for therapy
in oncology ?

(1) IgM 2 IgA
3) IgG (4) IgE
(5) Question not attempted

Sensitivity of a test is defined as

(1) Proportion of individuals with
a positive screening test who
have the disease.

Proportion of persons designated
negative by the screening test
among all individuals who do
not have the disease.
Proportion of persons designated
positive by the screening test
among all individuals who have
the disease.

Proportion of persons designated
negative by the screening test
among all individuals who have
the disease.

Question not attempted

2)

3)

(4)

(5)

In the National Lung Screening
Trial (NLST), what was the
percentage of relative reduction in
mortality with low dose
computerized tomography ?

) - 7% 2 15%
(3) 20% (4) 30%
(5) Question not attempted
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143.

- ®)

144.

Which of the following is not a
recommendation for women at
average risk for cancer screening ?
(1) Women aged 21 to 29 years
should  receive  cytology
screening every 3 years.

Screening for cervical cancer
should begin at 9 years of age.

2)

Women who have undergone
a total hysterectomy for
noncancerous conditions do
not need to undergo cervical
cancer screening.

3

For women aged 30 to 65
years, the preferred approach
1is to be screened every 5 years
with both HPV testing and
cytology.

Question not attempted

(4) -

Which of the following
recommendations  about = MRI
screening of Breast by American
Cancer Society is incorrect ?

(1) Women > 20% life time risk of
Breast cancer screen with
MRI plus mammography
annually. _
Women 15% — 20% life time
risk of Breast cancer : Discuss
option of MRI plus
mammography annually.
Women < 15% life time risk of
Breast cancer : Do not screen
annually with MRI.

Women < 15% life time risk of
Breast cancer : Discuss MRI
screening annually.

(2)

3)

4

Question not attempted

(5)
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145. Which of the following are the non- ; 148. Which of the following statements

self-protein antigens that are
involved in endogenous pathway of
and

antigen processing

presentation ?
@)
(2)
(3)
4)
(5)

Tumor antigens
Viral antigens
Lysosomal antigens
Proteosome antigens

Question not attempted

All of the following are correct about
abscopal effect of radiation except

(1) Attributed to the activation

of antigen and cytokine

release.
(2)

Seen more frequently with

lower losses and greater

fractions.

3

Activation of tumor specific
T-cells. '

Double stranded breaks in
DNA in irradiated cells.

Question not attempted

4

®)

. Which one of the following pairs of

Py p——

149.

describes the DNA damage repair
process associated with lonizing
radiation is incorrect ?

{1) Double stranded breaks of the
DNA are thought to represent
the lethal event.

(2) In mammalian cells, choice of

repair can be biased by phase

of the cell cycle and by

abundance of repetitive DNA.

Double stranded breaks are
rejoined in cells within 2
hours after exposure, the
process can continue for 24
hours.

NHEJ predominate
late S to G, phase of cell cycle.

(4) in the

(5) Question not attempted

All are antimetabolite except
(1) Capecitabine

(2) TAS-102

(3) FUdR

(4) Topotecan

(5) Question not attempted

i
§
G0 s Normonal ageits-and i 150. Ijhgher intake ‘of alcohol has been
: : linked to increase all-cause
their standard dosage 1is not ! : .
| mortality rates in all of the
correctly matched ? f . . : :
; following malignancies except
(1) . Tamoxifen — 20 mg E (1) Carcinoma larynx
(2) Anastrozole — 1 mg. (2) Hepatocellular carcinoma
(3) Letrozole — 2.5 dosages 5 (3) Head and neck carcinoma
(4) Fulvestrant — 25 mg E (4) Thyroid carcinoma
(5) Question not attempted s (3) Question not attempted
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